Operaciones con Nimeros Duodecimales (G)

21B715

X Bljo

909B19

+ B1641,

573A19

X 5219

A57519

+ 930819

B59219

+ 199319

Calcule cada respuesta.

1A416B15|6115

A05519

— 1A579

118319

+ A70219

120287 15|3B15

607812

X 6512

819A9
+ 762919

45981,
X 5A12

50087212|6515

977812
— 63919

302015|2015

41841,
X 9419

6A9B-
X 312

BSOAAA;5|BA;,

B7039
X 4712

A12445
— 9904,
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Operaciones con Nimeros Duodecimales (G) Respuestas

21B719
X Blys

1BB94719

909B19

+ B1641,

18243,

573A19

X 5219

24B99815

A57519

+ 930819

178811,

B59219

+ 19939

11365,

Calcule cada respuesta.

1A416B15|6115

380B,

A05519

— 1A579

81BA;5

118319

+ A70219

B885;5

120287 15|3B15

36B519

607812

X 6512

32012415

819A19
+ 762919

1380712

45981,
X 5A12

221A4815

50087212|6515
943A15

977819
— 63919

33A715

302015]2015
1615

41841,
X 9419

3279941,

6A9B-
X 312
18859,

BSOAAA;5|BA;,
BAO75

B7039
X 4712

4512195

A12445
— 9904,

42015
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